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QUESTION 1  
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 expansion 
 3m  ; 32n+  
 22 118 mnnm +−  
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answer 

(5) 
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grouping 
 (1 + a) 
 ( )ba 2−  

(3) 
1.3 Since 4972 =  and 6482 =  and  

645149 << , 
8517 <<   

i.e. 51  lies between 7 and 8 

 
 645149 <<  
 answer 

 (2) 

1.4 Let            542,0 =x  
Then 542,2451000 =x  
i.e.      245999 =x  

i.e.            
999
245

=x  

Therefore x is a rational number. 

 introduce variable 
 542,2451000 =x  
 245999 =x  


999
245

=x  

(4) 
[19] 
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QUESTION 2 
 
2.1.1 
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 standard form 
 factors 
 
 
 answers 
 

(3) 

2.1.2 
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 4
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 answer 

(3) 
2.1.3 

4
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3
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 Multiply by 3S and   
    divide by 2 
 Squaring both sides 
 

(2) 
 

2.2 
2Equation ......................52
1Equation ......................376

=+
=+

pq
pq

 

6 7 3......................Equation 1
14 7 35....................multiply Equation 2 with 7 ........Equation 3

q p
q p
+ =
+ =  

Equation 3 – Equation 1:  

4
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=
=

q
q

 

 
( )

3
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−=
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p
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 35714 =+ pq  
 
 328 =q  
 4=q  
 
 substitution 
 3−=p  

(5) 
[13] 
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QUESTION 3 
 
3.1.1  10  ;  6  ;  2    10 

 6 
 2 

(3) 
3.1.2 d = – 4 

 
Tn  = – 4n + 14 

 – 4 n 
 14 

(2) 
3.1.3 
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2511
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 31144 −<+− n  
 n  >11,25 
 answer 
                             (3) 

3.2 

78
136

6

13
=

=

=

)(T
nTn

  OR  
78

263
3

26
=

=

=

)(T
nTn

 
 6n 
 substitution of 13 
 answer 

 (3) 
OR 
 3n 
 substitution of 26 
 answer 

 (3) 
[11] 

 
QUESTION 4 
 
4.1 

47.4993
100

25.414500

)1(
5.2

R

iPA n

=







 +=

+=

 

 
n = 2.5 
substitution 
answer 

 (3) 

4.2.1 Loan amount = R5 999 – R600 
                      = R5 399 
 
Total amount owed = 5 399[1+(0,08)(1,5)] 
                                = R6 046,88 
 

Monthly instalment  =  
18

88.6046  

                                 =  R335,94 
 

 y = 0 
 
 
5 399 
n = 1,5 
Substitution 
 
R6 046,88 
÷ 18 
R335,94 

 (6) 
4.2.2      R6 046,88 -  R5 399 

  = R647,88 
 answer 

 (1) 
4.3 1 kg = 1 000 g 

       
35,28

1000 = 35,27336861… ounces    

    35,27336861… x 978,34 x 8,79      
= R303 337,16                     

conversion 
division 
multiplication 
answer               

(4) 
[14] 

 



Mathematics/P1                                                                      5                                                                            DBE/2012 
                                                                    NSC – Grade 10 – Memorandum 

Copyright reserved                                                                                                                                      Please turn over 

 
 
QUESTION 5 

 
5.1.1 A ∩ B  OR A and B  answer 

(1) 
5.1.2 A/  OR not A  answer 

(1) 
5.2 B  answer 

(1) 
5.3.1 19 learners are right-handed and do not play soccer.  answer 

(1) 
5.3.2  

 
 
 
 
 
 
 
 
 

 15 
 4 
 2 
 19 

(4) 

5.3.3 (a) 
P(L OR S) 14 4 3

40
+ +

=  

       21
40

=  

 15 + 4 + 2 
 40 
 answer 
 

(3) 
5.3.3 (b) 

P(R AND S) 14
40

=  

                      7
20

=  

            

 
40
15  

 answer 
  

(2) 
[13] 

 

14 3 
4 

S L 

19 
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QUESTION 6 
 
6.1 

-10 -9 -8 -7 -6 -5 -4 -3 -2 -1 1 2 3 4 5 6 7 8 9 10
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shape of f 
 
 x-int of f 
 
 x-intercept of g 
 
 y-intercept of g 

 
 

 
 

(4) 

6.2 x = 0 and  
y = 1 

 answer  
 answer 

(2)  
6.3 );0()0;( ∞∪−∞   values 

 notation 
(2) 

6.4 
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2
3

−=x   or  1−=x  

 

 4213
−−=+ x

x
 

 
 
 
 standard form 
 factors 
 
 answers  

(5) 
6.5 

5,15,3
5,35,1
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3421

−≤<−
−>≥−

<−≤
<−−≤−

x
x

x
x

 

  OR  ]5,1;5,3( −−∈x  

 
3421 <−−≤− x  

 723 <−≤ x  
 
 
 answer 

(3) 
6.6 

84
)42(2)(

−−=
−−=

x
xxk

 

y-intercept:  (0 ; – 8) 

 equation of k(x) 
 answer 

(2) 

6.7 x-intercept:     (2 ; 0) 
y-intercept:     (0 ; – 4) 

 x-intercept 
 y-intercept 

(2) 
[20] 
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QUESTION 7 
 
7.1 C(– 2 ; 0)  answer 

(1) 
7.2 

( )
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 ( )162 −= xaxf )(  
 
 substitution of 
    (– 5 ; 2,25) 
 
 answer 
 

(3) 
7.3 Range of f: );2[ ∞−   answer 

(1) 
7.4 Range of h: (  ; 0]−∞   notation 

 critical values 
 (2) 

7.5 
2

2

( ) 4
0 4
4

2
( ) 2 4

x

x

g x b
b
b

b
g x

= −
= −
=
=

= −

 

 ( ) 4xg x b= −  
 substitution 
 
 
 
 
 answer 

(3)  
[10] 
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